03099-60_A MARTHENAEMRE , TRAMLHE AR, EEBY

for electrics

7= Gk e
FmER
ENFERIRRFERETHNYUETHNZESR , eMNUUZ S b
FAHAF,

HTARSERBNEMREERELE NI ATHERSR. XERT
MU B F A AERREREEEMTES,
ERAZIMFNE , TRERELAIHETHLTHIBITES,

RS

MR FEMFEMASE 1.4034,
THW L B3R,

HHRRIRF

g -

ENFE :

W | 2B LALE,
W |, 2P ALE,

KRR FHER

BR:

ERTHREMH 03099,

RAEEBERNR ZRIEHERASE,
REZBBHRKRXEERE - 1.2 Nm,

BERSE

BRI AR R

BB EFALS (NO)
I{E®E : 10-30V DC
TEER : <100 mA
FFREEE : 1 mm
FFRE : <3500 Hz
PhEsE - B

RRERY . B

RIPLF : IP 67
EEAR 2m B4 PVC
BESBEHE : -25°C-+70°C
W AEMIE : CE, c-UL-us. EAC

NA :

ENFRESRSERBSHELES , TSUESREXNOIEES, i,
RO LB RBRELHRVETHLTREMNE,

Flan | IR SEIER S,

A :

RRBBIXZB/EEENEL , HAETHEO AR, RLBIITERX
KRB RPRHERREE R,

KEUAPHERT HAEF.

ZE
HRASERBNENHEFESATREAEZ S,

© norelem www.norelem.com



03099-60_A AR FHEMATEMHE , HFRAMLBE AR, ELIBY

RERR
1) LED
QTTI@ o
a @e@| P © BU=&®&
T
=m0 T1 Sz
oS <) -
= 1
(=] r - r
Y >
- — - -] - :: - — - — Q
] ™
(=}
I e H3 || H
1
03099-60-1031011 A RZRIRL Ml 3 M10x1 3 121 4 | 27 7 4 3 5
03099-60-1041011 A BRI M 4 M10x1 3 121 4 | 27 7 4 4 5
03099-60-1051211 A RFEL Ml 5 M12x1,5 3 151 4 | 27 11 4 5 5
03099-60-1061211 A BRI k] 6 M12x1,5 3 151 4 | 27 11 4 6 5
03099-60-1081611 A BRI M 8 M16x1,5 3 /20| 4 |27 15,5 6 8 5
03099-60-1101611 A IR Lk 10 M16x1,5 3 (20| 4 |27 15,5 6 10 5
03099-60-1122011 A BRI Ml 12 M20x1,5 3 25| 4 |27 19 6 12 5
03099-60-1162411 A RFEL k] 16 M24x2 3 (32| 4 |27 25 8 16 5
03099-60-11031011 A BRI TN 3 M10x1 3 121 4 |27 7 4 3 5
03099-60-11041011 A BRI T5W | 4 M10x1 3 12| 4 | 27 7 4 4 5
03099-60-11051211 A RRIRL &M | 5 M12x1,5 3 151 4 | 27 11 4 5 5
03099-60-11061211 A BRI 58 | 6 M12x1,5 3 151 4 | 27 11 4 6 5
03099-60-11081611 A BRI 548 | 8 M16x1,5 3 (20| 4 |27 15,5 6 8 5
03099-60-11101611 A BRI 58 | 10 M16x1,5 3 /20| 4 |27 15,5 6 10 5
03099-60-11122011 A BRI 5W | 12 M20x1,5 3 25| 4 |27 19 6 12 5
03099-60-11162411 A RRIRL 548 | 16 M24x2 3 32| 4 |27 25 8 16 5

© norelem www.norelem.com



